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PRACTICE

1) Great Freights, a local shipping company, charges on the weight
being shipped. The company charges 50.40 per pound and a one-
time fee of $10to set up a customer’s account.

a. How much does Great Freights charge if a package weighs 20
pounds? (Show work) e
18

0O.4o(zo)+ 10 =
g +10

b. How much does Great Freights charge if a package weighs 50
pounds? (Show work)

0.40(50)+ 10 =

20 +10

c. If a customer paid $45 for shipping, what is the weight of a
package?

ys—10=35
35<-0M0 =
d. Define the variables and write an equation for the problem.
X represents :d: OF Pa‘rﬁg
y represents '\"O"'ﬂ‘ cost
Equation: 5 =0.4Y0x 4+ (D

2) Twin brother, Mike and Mark, are looking for winter break jobs.
They are both offered jobs at grocery stores. Mike is offered a job at
Fresh Foods making $10 per hour.

a. How much does Mike earn if he works 20 hours? 40 hours? 60
hours?

20hrs= 10 26) =7
Yohny 10(40) =400
bohrs 10 (60) =D

b. Define the variables and write an equation to represent Mike’s
earning.

X represents H# O‘F hD(ArVS uoor‘\:Ed
y represents TO"'G\ \K Qan‘ecl

Equation: U= [Ox
J

c. Create a table using the data from part (a).

Hours worked Earnings ()
@) @)
20 200
40 400

D
g0
|00

LOO
ROO
00O

PerA B C D E F Date
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Mark is also offered a job at Groovy Groceries making S8 per hour, g- Create a graph of the data in table in part (c) and (f).

plus a one-time bonus of $100.

d. How much does Mark earn if he works 20 hours? 40 hours? 60 4\

[}
- Mikc
hours? oo s 40 hours _©0 hours 100 Mllce
20)+ B(40)+I00 B (60)+I0d
8‘%0{_1»'0000 §203+l00 ﬁ Sa 1100 Blm— Manrc
$200 420 *5g0
e. Define the variables and write an equation to represent Mark’s é 1o
earning. QJ %0
X represents ¥ of hOUPS UOOF\':E'd &
y represents | {)"'G‘ $ eaqr !]ﬂJ 6 ©0d -
Equation: L.I: 8X‘|‘ ‘IOO + Ypg) —
- e
f. Create a table using the data from part (d). 200 \
Hours worked Earnings ($) t | ¥ v ¢ % T & >
(®) 1600 20 40 GO 8O 100 120 MO
20 20 + oF hrs Liorked
"(O '-IZO h. After how many will the Mike and Mark earn the same amount of
0 580 money? Explain your reasoning.
. Mike  Mark
80 140 At alout S0 hours Mike § MOt ~1oG0)  grppyrio
10O q00 €om the some. amount *S00 £500 oo +100
% Lines intersect ot (50, 500) £S0d

i. Whose job is better? Explain youranswer.

* T tjouwork 0O-50 hours morks Jobls bette-
T youwort more Hhan S0 hrs M(\ce.s s \oehter




